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qﬂg"ﬁ;iﬁ & forg ﬁgw P Instructidn.s Jor the candidates :

1. 9¥temelf OMR ¥ 9FF v agar 1 Candidates - must enter his /

her Question Booklet Serial
v QAT FHIF (10 A BT) No. (10 Digits) in the OMR

HTyT frd'| Answer Sheet.
2. GEmEt WHWW il & gt 2 Candidates are required to give
' _ their answers in their own words
3".“'- %’- _as far as practicable.
3.2 3l g gt &3 gu 3% 3. Figures in the right hand margin
- 5 indicate full marks.

4. Jot F T '1# qg:} F f%f(’ 4. 15 minuies of extra time have

been allotted for the candidates to
15 e &1 SR @97 R T 1end the questions carefully.
gl '

5. 98 Y9797 31 @vel § & — @uz-ar 5 This question booklet is ‘divided

. into two sections — Section-A
h: Lo (R © ondSectionB- ..
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there are

S W= & 100 TRfre gyr § 6. In  Section-A,
; 3 : ’ uestions,
E’ﬁ# 3 &?? 50 w F FT 100 objective type q

- 50 questions
3T Afrard Y 2 . out of which any q

gyt are to be answered. First
¥ S 3 7 e 50 gt

& T o e g
W [ 1 ofw Fraffer 1
SR F I%T awE 1 omr
SR % H 3 1 w5t feeq w5
ﬁ#/ﬂ#ﬂ‘iﬁ##mﬁﬁ

foet ot s & zamew /-
T Tt / T / gy W

FT OMR Iov-YfiEsr & wahr
FAT T 8, e qhar vfmy
STHT g | -

7. @US-F # 30 &g Il WA &
Frd @ =t 15 woat @t s

39 fvard &1 vedw wvT % R

2 & ik &1 s7a sffes, 39

GUg 4 8 I Fwdia gy R4

?’,'ﬁ‘rlﬁ#ﬁr#‘amai‘mm
S geEE T F fm
5 & Fifta &

8. [ ¥R & sl Juav @1 &

4T goiear afsra &1

. 50 answers will be evaluated in

case more than 50 questions are
answered. Each question carries
1 mark. For answering these
darken the circle with blue /
black ball pen against the
correct option on OMR Answer
sheet provided to you. Do not use
whitener / liquid / blade / nail
etc, on OMR-sheet, otherwise
the result will be treated
invalid.

. In Section-B, there are 30 short

answer type questions, out of
which any 15 qx'testions are to -
be answered. Each question
carmies 2 marks. Apart from
these, there are 8 long answer\
type questions, out of which any

4 gquestions are to be

answered. Each question carries
S marks. |
Use of any electronic appliances is _
strictly prohibited.
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WYX - X / BECTION - A
TP W / Objective Type Questions

"¥I O 18 1007% & 1w & W wr frwew frg my & frnd @ o
2 R=t someAt & awr ot gy my wd Brwer #t omm Az ar
etz &¥ 50 x 1 =50

Question Nos. 1 to 100 have Jour options, out of which only one is correct

Answer any 50 questions. You have to mark your selected option on the
OMR-Sheet. : S50«~1~=350

s

/3/ qﬁ{“ﬂﬂ@'ﬁﬁ'{q a=bq+rﬁ a=72,b=9, q=8,?fl r=

(A) 1 B) 2
(©) : (D) 3

If in division algorithm a =bgq+r,a=72, b=9, g=8, thenr=

A 1 | B) 2
€ O D) 3
_}/no Wo (a,b)x o He (a,b)=
(A) a+b ) (B) _~axb
a b
© £ | o 2

H.CF.(a, b)xLCM.(a b)=

A) a+b ' (B) axb

(C) (D)

o2
o o
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.,3'. Ji5 2

A il gy B)  ufody wem
\}CI/ mly ey D) ¥ @ F3 A6
JTS is |
(A)  an integer - | (B)  arational number
€ an irrational number (D)  none of these

/ 124%%%’1’&2%%@%

A) 1 ( 2
) o D) 4

The exponent of 2 in the prime factorization of 124 is

(Al 1 . ' B) 2
\/ﬁw%f@aﬁm-mﬁawwm Wi & 2
17 . 77
(A) 105 (B) 210/

. \L/
., & == - D 160
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Which of the following fractions has terminating decimal éxpanainn 2

A T
A e B,
~ 1S
) == 3_
88 D 160
R FEns W PEER 1600 T ITH Yoo 5 ¥ @l WIAH F Fowo
il
(A} 8000 (B) 1600
)" 320 (D) 1605

The product of two numbers is 1600 and their H.C.F. is 5. Then LCM

of the numbers is

(A) 8000 (B) 1600
(C) 320 D) 1605

7/ 36 T9l 84 FT Ho Ho &
_—

(A) 14 / ® 1 -
ﬂ D) 4

The HCF of 36 and 84 is

(A) 14 | ' (B) 1
c 12 (D) 4
(L/3)110 A XSP-5510 ‘Page S
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'
¥ ﬁqﬂ‘—rf@aﬁaahamwﬁt ?
(A) -l—x+1 - (B) 6—x2;r\/§x

_ 5
2
\J’o’/ x=1 (D) X

Which of the following is not a pulynomial 2

(A) -é-x+1 B 6-x?+43x

" (© ;—-?_—T '- (D) x°
ﬂ%{ﬁﬁmﬁm p(x)¥x2-2x+5 Q-TYFFF a, B ﬁ,'ﬁ}ad-ﬁ"m"f

q g - E

@ -2. ’ M

C) 5 - D) .-5

If a, B axjc'the zeroes of a quadratic polynomial p(x)=x?-2x+5,

then the value 6fa+[3 will be

@Ay -2 B) 2
y 5 D -5
JA;-:' x2-2x-3F LIH 8§ o
| A -3,1 | . (B -3, 4
\}}/3,—1 | D) 3,1
(L/3)1 Id A XSP-5510 Page 6 of 48




The zeroces of the polynomial x? -2x-3 arc
(A' _’31 l (B} —3! _l

€ 3,-1 o) 3,1

11 A o, p FFOE SEUE a + bx + x? *Wﬂ,ﬂ}é+ﬂ;ﬂﬂﬁm

© 2 o 2

If a, P are the zeroes of the quadrahc polynomial a + bx + ex?, then
the value of o + 3 is

w -2 - ® -2

© ¢ L
/ﬁ%mmzﬁwﬁ-&-z%ﬁ«,ﬁﬁyaﬁ,a’ramw

-t o

@ -1 N

(©) I2 o 32

If o,f and y are zeroes of a cuhlc polynormal 2x> +3x2 — 5x - 2,
then value of uBy is

c) 2 5
( o 3
(L/3)110 A XSP-5510

Page 7 of 48



13. 4 M g
~ e p('t""q{xl-g(.ﬂ am plx) & ot = 4
I (t)
f//‘
A2 | 4

i @ A T

(C) 1 ' (D)

: of gix)=2
If p(x)=gq(x).g(x) and degrec of plx)=4 and dcgrec

then degree of p (x) will be

g(x)
A 2 ; B) 4
© 1 o (D) none of.these
\y./uﬁq@mm%m@mﬁmqﬁmmmm
(A) 6g+2 : 6q+3
(€ 6g+4 - (D) 6q

If g is a positive integer then a positive odd integer is of the form

(A) 6g +2 (B) 6g +3

(& 6qg + 4‘- : (D) 6q

TEIT 3x° -5x2 -11x-3 HHA ¢

@ 2 \@3/

- % o o
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The degree of the polynomial 3x” - 5x2 - | Ix-3 is

) 2 B) 3

© 1 D) O

60 Tl oo wpe & v ok 1 o 1 ¥ o e g g

-
~”

N}\,\/-"}Q -2x+1 B) x2- 2x -1
(©) ‘a2 #2x4l (D) x2+2g—l .
If the zeroes.or a quadratic polynoniia.l are 1 and 1 then the quadratic
polynomial is ‘
(Aj x2-2x+1 B) x?-2x-1
©  x2+2x+1 D)  x2+2x-1
W % 3 i we
A) 13 . (B) 23
Q) 32‘ O 17

Which of the following is a composite number ?

(A} 13 By 23 ‘

. | D) 17
ﬁnﬁfgaﬁﬁq—mmm-m% ?

(&) (14, 35) ' (18,25)

(C) - (31,93) (D) - (32,62)
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Which of (je following is a pair of co-prime ?
A (14,35) B) (18,25)

€ (31,93) (D) (32,62)
Vg

/'9/ A T 3x2+8x+k%@¥ﬁ$§!ﬂ'$wﬁ'a}kw

(A3 B -3

* 1
© 3 @ -3

If one zero of the polynomial 3x? +8x + k be the reciprocal of the

other, then the value of k will be

A 3 B) -3

b _
ﬂ%:—:%,ﬁaﬂtﬂmﬁﬁm Gyx+by+c =0,
2

(A  fgdtm e @ (B) I FA T €
)/ Fa e & D) T ¥ HE &
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alb

2
It o=

= f.!., then thc system of cquations a;x+by+c =0,
c -
2

a,Xx+byy+cy =0 has

(A) a unique solution
(B) no solut.i'oﬁ
(C) infinite number of solutions

(D) none of these

wa+y=a$amﬁ$%@rﬁ% g § fee s et 2

© A EA | (D) s & "-ﬁﬁ

Equation x +y =8 has how many solutions in the set of real
numbers ? |

(A). One solution (B) Infinitely many solutions
(C) . Three soluﬁoﬁs (D)

No solution

Mg 20x + 37y ~103 T 37x + 29y = 95, T

I=1,y=2 (B) x=2’y=1 | .

(€ x=3,y=2 D) x=2,y=3

If 290x + 37y =103 and 37x + 29y = 95, then

A) x=1,y=2 B) x=2,y=1

(C) x=3,y=2 (D) x=ald. y=3

h(L/3)110 A

XSP-5510
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Ammmwmmmﬁvﬁﬂm?

&/@m%@ () & Tl W@
€) Wy (D) FH § FE R

The graph of equation in one degree always represents

(A)  astraight line - (B)  two straight lines
C)  parabola (D)  none of these
/k%ﬁﬁqm%mmﬁmﬂ kx-y=2 3R 6x-2y=3 &
T ey ) | |
(&) k=10 | B kz0

© k=3 .Ms

For what value of k, the system of equations kx-y=2 ‘and
6x -2y = 3 has a unique solution ?

(A) k=10 ' B) k%0 )

C) k=3 D) k=3

% R A Yaw % oo wE Y A e o
e gt

(A) , fok = ( S 7T &1

(C)  IFAREA & . (D) H R BE T
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If the graph of two linear equations in two variables are parallel linces,

then the number of solutions is |
(A) only one
(B) - no"sol.utiﬁon
(C) infinite number of solutions
(D}' none of these _ ‘
/26_./ frfefaa = ® #i= frara wiewor 7@ ¢ 2 | _ ‘
{A) x%?-5x+3=0 | (B) 2x2-3/2x+6=0

( 3x2-2Jx+8=0 (D) 2x%2-3=0

Which of the following is not a quadratic equation ?

(A) x?-5x+3=0 - (B) 2x2-3w/§x+.6=0
. 8x?-2Jx+8=0 . D) 2x*-3=0
/Z/ﬁ’iﬂ'lﬁ'ﬂ'ﬁ\ﬁﬂ bx? +ax+c—0ﬂﬁﬁﬂ$ﬂ-ﬁq% ?
a? - 4be B) b®-4ac

© b -4ac (D) T W
Which is discriminant of the quadratic equation bx? +ax+c=0 ?

" (A  a%-4bc (B) b%-4ac .

(Q)- J b? - 4ac (D) None of these

(L/3)110 A XSP-5510 : Page 13 of 48




/fﬂﬂﬂmﬂm x2+4x+1=omﬁwm

\154/12 B) 14

(C) 20 (D) 8

' ; : " 2 4x + 1 =0 Wﬂ] be
The discriminant of the quadratic equation X~ ¥

A 12 B 14

7 ' 7
© 3 @ -3

If one root of the quadratic equation 2x2 +ax+6 =0 is 2, then the
value of a is

@& 7 e B -7
© % o -1
ﬂﬁﬁmﬁﬂﬁmﬁqﬁrsmfzﬁ.?ﬁﬂaﬁ\m%

(A) x2-3x+10=0 | M.’?’x—m:O »

(C) x2+3x—10=0_ (D) x243x+10=0

If the roots of a quadratic equation are 5 and -2, then the equation is

(A) x%-3x+10=0 B) x2-3x-10=0
€) x*+3x-10=0 D) x243x+10=0
(L/3)110A XSP-5510 Page 14 of 48




Mﬂu.ﬂ'ﬁmﬁ TR 3x2+8x42=0 ¥ T & T [&+-é—} Hl
R |

_3 | 2
(A) 3 | ® 3
If a,B are the roots of quadratic equation 3x2 +8x+2=0, then the

value of (-1- + l) is
L a f

win

@ -3 , (®)

D) 4

% R TR ax? ¢ e c =0 3 i o 7 4 A g 4
it i sl @ a2

(A) ST o R (B),~ aaiferdh T, ST

L3

() ot T/ - D) T q HKE T
Ifina quadratic equatn;on ax? + bx+c=0, the valulc of discriminant

is greater than zero, then what is the nature of its roots ?

(A) Real and equal (B) Real and unequal

(C) Not real (D) none of these
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~ . ' , . %
)/m 3R 06, 17, 2-8, 3-9, ... 1 TE HR
A) 01 \ua)/l'l

€ 101 (D) 001

A -9, ...1Is
The common difference of the A.P. 0-6, 1-7, 2:8, 3-9,
A) 01 B) 11

€ 101 | (D) 0-01

/ﬁtﬂﬁrﬁaﬁﬁﬁaﬂ'm%ﬁ%? o
W 2.4ré, 16, 20, ... \Jb}-/m,—e,-z,z,

€  V3,/6,40,/i2, ... (D) 0-2,022,0222, 02222, ...

Which of the following is in A.P, ?

(A)  2,4,8, 16, 20, ... (B) -10,-6,-2,2, ...
V3,V6,49,V12, ... D) 02,6022, 0222, 02222, ...

Ifg %,a,zﬁrﬂ?m@é%aﬁmw%a‘rammm

7 5

(A 3 (B) =

2 4

© 2 o 2
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w3

5 a, 2 are three consecutive terms of an A.P. then the value of a
will be
"
W g (B) %
D)
@ 32 o 3
36 A T A H 4 W 3n+5 T THH T 3R BT
(A 1 B 2
" 3 (D) 5
If nth term of an A.P. is 3n + 5 then its common difference will be
A 1 B 2
) 3 D) 5
TR 81 5,7,9, 11, ... M HA-T T 298 ?
&) A3T T B) 12T TR
€ NAW. D)" 108 R
Whicﬁ term of the AP.5,7,9,1]1, ...18297?
(A) 13t term- ' (B) 12th term
(C) 11 term (D)  10t% term
(L/3)110 A . [xsp-5510| Page 17 of 48



39

40

: 4 & Al A
o et wie gt 1 7 & F 4 T W K 48 iy
T Fm )
A) 16 B) 20
© 24 (D) 28

If 7% term of an AP, is 4 and its common difference is - 4, t.!wn Wha
is its first term ? .

(A) 16 (B) 20
G 24 (D) 28
o el TR A a < a,, =32 ¥ A IW WHR S H W shw

T BN 2.

=4

)r/s B -8

) 4 (D) -4

If in an AP, Qg — @4 =32, what is the common differénce of the

AP.?

A 8 | (B) -8

(C) 4 D) -4

1+2+3+4+..+n e ¢

n+l nin+1)

@& 2 —a

; n(n+1)(n+2) n(n-1)
© : o =5

(L/3)110 A ' XSP-5510| Page 18 of 48




1+24+3+4+ ... +n isecqual to

n+1 n(n+1)
il L
n(n+1)(n_+21 nin-1)
> 2 By =5
T 10 foem W G F e €
(A) 200 B) 100
(€. 110 D) 210

The sum of first 10 odd natural numbers is
(A) 200 (B) 100

(CL~. 110 : (D) 210

y-adfaga(z, )Pt
C) - 1R (D) 15 T

The distance of the point A ( 7, 8 ) from the y-axis is

" (A) 7 units (B)- 8 units

- (C) _Idnit (D) 15 units

ﬁg(..'.s,-:a)%ﬂqﬁﬁf@lﬁ% ?
@A) SuH B kdEwR

GRIREIE | o) T
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.. _e -3)lie?
In which quadrant does the point { 5,-3)

(B) Second quadrant

(A} First quadrant

(C})  Third quadrant (D)
/x -3787 7 FeflawoT ¥

(A) x=0 " \_@/y;o

Fourth quadr ant

€ x=y - (D) W@ﬁqﬁ
The equation of X-axis is |
(&)  x=0 B y=0
‘ (CL x= y (D) none of these
a5, Fﬂ?jp(—&a)ﬁﬁﬁﬁgﬁﬁ%
A TR . (B) 237’ W‘i‘
C) 6THE | 10 33
The distance of the point P (-6, 8) from the origin is
(A) g units (B)  2J7 units .
(©" 6 units (D) 10 units

467 fag A (7, 13) W& fog B(10,9)F S wt gt &

(A) 5 T B  5J5 s
© 10w (D) . 33@r8
L/3)11 W
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The distance between point A (7, 13 ) and point B(10,9)is
{A) 5 units (B) 5J5 units
(C) 10 units (D) 3 units

j/ﬁﬁaﬁ“_&“@ 8(7,-8)ﬂﬁﬁ$ﬁaﬁ%@m$mﬁ7«;m

et &
A (1,2) Mz)
< (-1,-2) (D) (-1,2)

The coordinates: of the mid-point of the line segment joining thc
points A(-5,4)and B(7,-8)are

A)  (1,2) ' B) (1,-2)

-1,-2) O (-1,2)

x = 15 [ 3TI@ Sl Vel @1 &t ?
(A)  x-3T& & GHIHR y-3T8 & AR

€ T fag & el g3 D) T ¥ IS T

What type of straight line will be the graph of x= 157?
(A) Parallel to x-axis (B)  Parallel to y-axis

(C) Passing through origin (D) None of these




P

M g (45, 7.0)® HEE
\}/'7'()
(A) a5

€ -4§ o -7
The ordinate of the point (45, 7°6) 1S

(A) 45 B 70

€ -45 o -76

50. BN aoB Rt ¥ A (a, 0), 0(0, 0) @1 B(0, b) F1 &R T
(A)  ab T THE (B) %ab'cr"'l EEaH
©)  2a?b? T @ D)  1b° CUEH

The area of triangle AOB with vertices A ( a, 0 ), O°( 0, 0 ) anc

B(0,b)is
(A)  ab square unit (B) %ab square unit
(C) -;—azbg square unit (D) %bg square unit

51. ﬁﬁﬁ_ﬁ'ﬁA(-&,S)EﬁB(—zS]&ﬁ?ﬂEﬁa@iﬁT@?ﬁﬂwﬁﬁ
P(-%,A@]%a’iaaﬂqﬁm

(A) -8 B) 3

Cc -4 D) 4

(L/3)110 A XSP-5510 Page 22 of 48




a . L ;
y P(—f' 4] is the mid-point of the line segment JoININE the points

A4(~6,5) and B(-2, 3 ), then the value of a will be

(A) -8

o -

-4 DO 4

@B 3

. COSec(ggo - 6) -

\

(A)  cos® Mscc 3
)@// sin® (Dj Lain

/&1480 .tan23° . tan42° . tan67° =
(A' 0 ’ ‘ﬁr/l

1 O 2
ccus_2 17° - sin273° =
A 1 0
C)_-2- | D) -1
cos1®. cos2°. cos3° ... cos180° =
@ -1 _— ' ® 1
1
T 0 | D 3

(A 0 B) 2

< 1 ‘ D 2

(L/3)110 A - XSP-5510
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/ % 0=45°, A tan20+
\E:)//
3

(B)

(D)

1 rﬂmﬁl‘mm ?
sin20

2

4

1
2
If 6 = 45°, then what is the value of tan“0+—= ?

(A) 1

- © 3
58. frfofas f s v ¥ 2

(AY  sin30° = cos 30°

(C) . sin30° =cos60° .

(B)

(D)

®

(D)

- Which of the following is true ?

(A) sin 30° = cos 30°

(C) sin30° = cos 60°

(B)

(D)

sin

"2

4

sin 30° = tan 30°

sin30° = tan60°

sin30° = tan 30°

sin30° = tan60°

59. AR a=p=60° A @A cos(a—p) P A F7 AT 2

“(A) 0

) 2

(B)

D)

1

_1.

If @ =B =60°, then what is the vé]tie of cos(a-) ?

A o B) 1
© 2 @) -1
(L/3)110 A XSP-5510 Page 24 of 48




60.

61.

62.

63.

(A) o

(B) 1
) 2

D) -1
1 - tan? 450
1+ tan2 450 -
(A)  tan9ope ® 1
(C)  sin4se D) 0

AR 2sin20 = 3 7@ ¢ & T AW

(&) 300 ' (B)f 45°

(b) 60° _ (D] .- '900

If 2sin20 = V3, then the value of 6 will be

(C) 60° (D) 90°

g A= 65°, Tl tanAxcot A 1 HIF &l

(A) 0 (B) 1

© 2 o -1

If A= 65°, then the value of tanAxcot A will be

&) O B 1

© 2 o -1

(L/31110 A XSP-5510 Page 25 of 48




s o fﬁ' ZA =
i sec4A = cosec(A -10°) Td 4A <90°,

64.
(A) 20° | 30°
i3 o g - (D) 50°
If sec4A = cosec(A-10°) and 44 < 90°, ihes i
(A)  20° B 30
(C  40° * (D)  50°

- 65, sec?10° - cot28ge =
| A 1 ) B) O

© 3 ©

66. 3fx (tan® + cot) =5, & (tan26 + cot2 6)=
@& 27 | | B 25
(C) 24 (D) 23
If (tan® + cotlel =5, then (tan?0 + cot29) =
a) 27 B) 25
(C) 24 | (D) 23

67. ﬁ%ﬁﬁﬁ?ﬂmm V2 % TWER A )
(A)  tan60® ‘(B] . cos45°
(C)  sin30° (D) cosec 450

(L/3)110 A | XSP-5510 Page 26 of 48




Whicl v .
ch of thy l‘ullowmg has the value equal to ﬁ ?

A c .
() tan6o B cond5®

c t °
= e (D) coscc 45°

68. Sil‘l2 60° - C032 60° =

a) L 3
4 (B) 2

1
© 3 | o 3

69. AABCW £A=90°, AB=6 cm U§ AC= 2/3 cm, @l £B %l 79 =

A a5 B s0r

(C) 60° D) T q B T

In AABC, ZA=90°, AB= 6 cm and AC = 2J/3 cm. Then measure
of B =

(A)  45° | B) 30°

(C) 60;’ (D) none of these

70, aft UF WY W B A 2/3 m§ @ G F IAGT HI7 60° € I
(A) 4ﬁm ) - (B) 6m

€ 12m | (D) 3m

(L/3)110 A - |XSP-5510 ' Page




o in Qﬁ m and angle of o,

y ol
If the length of the shadow ofa p g
pole will be

: the
of sun is 60°, then the height of

A 4/F m | om
(C)  12m o) 3m
i ﬂﬁﬁm&gaésmﬂmzs:“%a}mmﬁ
HT S @
(A) 2564 B 5:8
© 8:5 D) V8:45

If the ratio of areas of two similar triangles is 25 : 64, then the ran

their corresponding sides is

(A) 25:64 (B) 513..
(C) 8:5 D) J8:45
72. AABC ﬁﬁm%%,q3=6cm,Ac=8cmﬁw AD, LA T 3%
dl BD:DC = |
(A) 3:4 (B) 9:16
C) 4:3 (D) V3:2

In AABC, it is given that AR = 6 cm, AC =

8 cm and ADis
bisector of ZA. Then BD: pC = (

(A) 3:4 B 9.6
(€) 4:3 (D) J§:2
(L/3)110 A XSP-5510] , —
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74.

75.

-3.

with centre at O and £4pp « ggo

TP

. 1L
o E‘ﬁq O aa 7 W Tg’ﬁ"ﬂ 2 TV LR E 1L
€ W ZAPB = gge

A <POA =

(A) 40°

(B)y so°
(C) 80°

(D) 60°

If PA and . —
PB are langents drawn from an external point Pto @ circle

then ZPOA =
A 40°
o : (B) 50°
(C) 80° ) .

T R R e forg it g et e, et g @ A T A
P & -8 A = ) '

L B) 45°
(C] 60° - * [D) 90°

What is the angle between the tangent at any point of a circle and the

radius drawn from the point of contact ?
(A)  30° (B) 45°

(C) 60° - (D) 90°

fordt o fag A € & O a8 g W 3 W Y@IT AP T AQ T TS,

" gff AP= 10 cm Al AQ=

(A) 20cm (B) 10cm

(C) 5 cm | (D) | 1S cm

(L/3)110 A XSP-5510 Page 29 of 48




; . ) are draw
From an external point A, two tanpgents AP and AQ n .

circle with centre at O. If AP = 10 ¢m and then AQ=
(A) 20 em (B) 10 cm

(©) 5cm (D) 15cm
76. ﬁsc.ﬂﬁomﬁqamwwm%t{ébqa%qﬁﬁxWWh’i

al «BDC &1 W &

(A)  90° (B) 180°

(C) ase (D) T q I3 T@T

If BC is; a diameter of a circle with centre at O and Dis a ‘point on j;

circumference then the value of £ZBDC will be:
(A) 9Q° - ~(B) 180°

(C) 45° (D)  none of these

77, TRl e Fargait s a3 arch Yaras 9 e &

(A) S (B) BIF @
(C) Ter ¥@r (D) 9 T =¥ &
A line segment which intersects a circle in two distinct points s
called |
(A) chord (B) secant
' (C) tangent (D}  none of these

(L/3)110 A ', XSP-5510 Page 30 of 48
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5

79.

80.

B o
(C) 90e° B 10
(D) 60°

If a chord AB
subt
angle between th S angle 50° at the centre of a circle, then the
€ tangents drawn on points A and Bis

(A)  30°
' B)  130°

€ 90°
- D) 60°

ST AB .
CH AR AC? = aB2 4+ pc? ¥ & Bt 1 FH-T1 FIOT FHHM

g ?

A
(A) ZA B B

& <C O THISET

In triangle ABC, if AC2? = AB2+BC?, then which angle of the
triangle is a right angle ?

W A B) B

C) <£C (D) None of these

aapc & DE | BC T ¢ f5 A =2 R AC= 66 om, T AE=

(A) 2:2 cm (B) 24 cm

(C) 42cm (D) 2-lcm

(L/3)110 A XSP-5510 " Page 31 of 48




i L l 'J " l’(. & u DB

| 24"
(A) 22 em

oy aiom

o 2 : 3 & A T T I g,

C) 4.2¢em

81. {1 e ) Frowail @

w2
(A) Dy (B) 453
C© 3:2 . o) 2:°9 *

. 1 what is the ratio of ..
The ratio of radii of two circles is 2 : 3. Then W the.

areas ?
@ 2:3 B 4:9
) 3:2 D) 2:9

82. 42 cm Frar ot g9 & 3w froude &1 AR F41 B e S
HIT 30° & 2 |
(A) 515 cm? (B) 416 cm?
(C) 462 cm? (D) 604 cm?

What is the area of the sector of a circle with radius 42 cm and whoss

centre angle is 30° ?
(A) 515 cm? (B) 416 cm?

(C) 462 cm? ' (D) 604 cm?2
(L/3)110A XSP-5510 Panc 02048




o B ot 4

.
(%]

35 ,
43 TR R, @ 3k g o v A A H

e ————— T —— S g '

@A s L
- B) 357

44
| (D) 227

If the radius of ‘ . .

. : “-:heel 18 %i' metre, then distance covered by it in
one revolution is
A Sm -
. (B) 35m

@ 44m (D) 22m

a

ga. 12 UH AW & T S 1 amaT T @ 2
(A) 144 B JH (B) 144z T Al J

(C) 288z 7 {Hl (D) 288 & [

What is the volume of a sphere of diameter 12 cm ?
" (A) 144 cubic cm (B) 144x cubic cm

(C) ‘288n cubiccm . (D) 288 cubic cm
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: ; : 5
85. R s F freqrall w1 U 2
5:2 %) ITH gaH! H 3IE ¢
8
A 1:1 B 2
| : 3
€ 5:2 D) 2
, = d ratio of their heighy, .
. The ratio of radii of two cylinders is 2 : 5 an Siy
S : 2. The ratio of their volumes is °
A  1:1 B 2:5
€ s:2 (D) 2:3‘
86. e v ®1 amaE 0744 cm? ¥ 7 ST TH N &t
(A)  14cm (B) 12cm
(C) 24 cm {D] 41 cm
The volume of a cube is 2744 cm®. Then one side of it is
(A) 14 cm (B) 12cm
€} 24cm D) 4lcm
€os59°  tang8Q° l
el sin31° ” cot10° A ¥
1 3
A Y~ ——
@ = B ¥
o 1 1
© o 2
(L/3)110 A~ |XSP-5510
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88.

89.

@)

The value of Cos 59Q° tan80°
mx w is

1 .
S V2 , (B]..’/?g

€ 1 D)

AT B
(A] XYz - ’ (B) 2 xyz
© Jxyz D) 3wz

If the areas of three adjacent faces of a cuboid are X, U and z

respectively, then the volume of the cuboid is

(A)  xyz B) 2xyz

©  Jxyz | (D) 3 xyz

o it ¥iF ¥ TR F B ¥ o IER FE A A UF @

I BN
1 . - 1_ 2
(A). -s-nrh (B) 3 h
1_.2:2
() %nrhz @ 3tk
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, .« height is A, thep
IFthe radius of (he base of a cone i8 7 and 118 the

volume of the cone is

A -é—nrh . : (B) -:l;—ur?h_

() énm? (D) %ﬂrzhg
90. R o amet andritet a7 wiqut g eawer T BT 7

(A nR2 L B 27k’

(C)  3zR2 (D)  4nR?

What is the total surface area of a hemisphere of radius R ?

(A)  aR2 ' (B)  2rR?

(C) 3xR2 | (D)  4nR?
9. 7,3,5,8,6, 10,9, 12 % qfaH T ¥ ?

A) 8 B) 6

€ 75 (b) 7

What is the median of 7, 3, 5, 8, 6, 10, 9,127

(A) 8 - .B) 6

€ 75 - D) 7
92. WU 10 Y WIHA HEwe wrang ¥

(A) 110 B 11

€ 10 ' O 100
(L/3)110 A XSP-5510
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03.

94.

95.

The mean of fipgg 10 eyve

N natural numbers is
(A} 110 M) 1n
C
€©) 10 D) 100
37 AR 45 F Wi g §
A 41 B 42
© 51 By 20

The arithmetic mean of 37 and 45 is

A) .41 (B) 42

(© 51 - (D) 40

fepelt sraren Rt =1 W 28 U wge 16 &, g WA @

A) 22 B) 235

(C) 24 (D) 245

If the mean of a frequency distribution is 28 and mode is 16, then its
median is

(A) 292 _ (B) 235

© 24 (D) 245

Frefefam 3 w1 i i = wm ¥ 2
@ T () T

- (D) AF® faEer
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incy 7
ndency
entrol U
) . of ct n
Which of the following is not a mensure

«hian
(A)  Mean B  Med

X wiation
€  Mod @y standard s
ode *

96. 7,8,9,7,8,9,0,3,5,4 H gl &
@a 7 B 8
© 9 (o) 4
The n;ode of 7, 8, 9,.7, 8,9,9,3°5,4is
Ay 7 B) 8

© 9 D 4

97. Tl wem =Y wifgewar = sifusaw A BT €

(A). O (B) 2
© 1 | (D) T & g I
The maximum value of probabiﬁty of an event is
@ o B 2
© 1 ’ i | (D) none of these

98. i faepi i IoTet o Wwar o Yt W W= B 2

(A) 2 ' B 4
€ 6 | D) T F FE 7
(L/3)110 A XSP-5510 " Page 38 of 48



what is the nun
\ber ;
of possible outcomes in tossing 2 coins ?

2
B 4

€ 6
(D)  None of these

0. & PE)=0.07, & p(e!) T

&) 093 B) 009

(€ 007 (D) 0-03

If P(E)=0-07, then P(E') is equal to .
(A) 093 | . (B 009

© 007 - (o) 003

100. 3TEWE M1 St WiEEHAT 41wt & 2

(A) B) 1

1
2

1
c O | D) 3

What is the probability of an impossible event ?

@ 3 ® 1

1

© O © 3
(L/3)110 A XSP-5510 Page 39 of 48



WY - w / BECTION - B

Y 370 w7 / snort Answer Type Question® F Iar &
» : m !
mm:#somwmmf,nﬁ#ﬁﬁ‘? 15!777* /

5x2-=
mm*%a@hﬁuﬁah \I "

1540.
 Using Buclid's division algorithm, find the HCF of 252 and

3 et L 75 e e .

Prove that -!‘— is an irrational number

A%mem%mqﬁ,mﬁl 2

Determine whether the decimal expansion of

3135 is terminating or
\}/Qﬁﬁ‘qmaﬁqﬁp(x]ﬂﬁﬁﬁ#mﬂ?ﬂﬂﬁﬁ?
- TR Ly | 2

Find a quadratic Polynomial p(x), the sum of whose zeroes are

V2 and Product is %—

5. W@H@ﬂ#%ﬂwﬁﬁm 2x+3y—11ﬂ?mﬁmﬁ|

Find the solution of the equation 2y 4+ 3y=11 i

2

n the sget of natural
numbers.

(L/3)110 A XSP-5510]
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-4

2

Solve - ,
Olvg the System of equations 2x+y =7 and 4x-3y+ 1 =0 using

substitution method.

":/I @ i W e 4x +6y =7 Td 12x+18y =21 & amaRfuda ¥

¥ 3% 7t ity

|

Show that the system of equations 4x+6y=7 and 12x+18y =21

has infinitely many solutions.

E\i/ﬁfarawﬂmn;c?-s“ho%qa’iaé’rw%mﬁf

Find the  nature of quadratic cquation

4x? -S5x+3=0.

the' roots

of the

2

/ﬂﬂwmaﬂwahw%qamw 182 2, a’rmm

F |

2

If the sum of two natural numbers is 27 and their product is 182,

then find the numbers.

lg/qa%mﬁamw 2x2 ~5x+3=0 % §ol T H{ |

.

A

Find the roots of the quadratic equation 2x?-5x+3=0 using

formula

\_/ﬁﬂlﬁTQﬁQ 13, 17, 21, . mzoamzma,-h

Find the 20th term of the A.P. 9, 13, 1‘?, - & N

(L/3)110 A

XSP-5510
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12 afe ferd waim A w1 5 A 0 o At o FwW: 43 AT 79 X A A
i 2

Il Sth and 9th terms of an A.P. are 43 and 79 respectively, find the
AP,

13. 03K 50 & dr R Fmm demal & ARA B

(S

Find the sum of odd numbers lying between 0 and 50.
149, x 3N y J wF Fay wfia o ok frg p(x, y), g A (1, 4) ™

B(-1,2)® ¥ §| 2

Find the relation between x and y if the point P ( x, y ) is equidistant
from the points A( 1,4 ) and B(-1,2).

15. AABCH AWM A(6,4) W B(-2,2) & a0 %5 G(3,4) &
AABC ¥ AR Wi ¢ & Frdwis Freret 2
Two vertices of a AABC are A (6, 4) and B (-2, 2 ) and its centroid G
is (3, 4). Find the coordinates of the third vertex C of AABC.
fee T 7 Rt (5,-2), (6, 4) 3R (7, - 2) T wafaE B &

i &1 2

Prove that the points ( 5, - 2), ( 6, 4 Jand (7,-2 ]'are vertices of an
isosceles triangle.

17. fag R & Fdwiw 7@ & <t fagE P (- 2, 3 ) @ Q(4,7)®
et tErEs it 4 7$ﬁmﬁmﬁmhamh

Find the coordmatcs of a point R which divides the line

2

segment
joining the points P(-2,3)and Q(4, 7) internally in the ratio 4 : 7.

(L/3)110 A - |XSP-5510
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18.

19.

20.

21.

22,

23.

ﬁgaﬁ“(s'“-ﬁ(‘l.?}sﬂ'{c(7,-4)ﬁmmnAﬁcaﬂW
Eca 2

Find the area of AABC made by the pointa A (5,2), B(4.7) nnd
C(7.-4), |

AABC® DE || BC ¥1 af% pE < 3 ¥, BC= 6 ¥ T AADE 1 &

15 ¥2 & B aaBc T SwE T FE 2

In AABC, DE || BC. If DE = 3 cm, BC = 6 cm and the arca of AADE is

15 cm?. Find the-arca of AABC.

 fog %t i T Bt 1 Q) i & wafergelt X el T@rEvs
- AR oo & gEieR At ¥ 2

Prove that the line segment joining the middle points of two sides of a
triangle is parallel to the third side.

o pA T PB ¥ 0 I g W & Wt @ § LAPB = 60° Al

ZOAB &1 HIY Td &1 I o2

If PA and PB are two tangents to a circle with centre at O and

£ZAPB = 60°, then find the measure of LOAB.

IfE 3tano = 4, 35100+ 2¢088 o g feRre | | 2
: 3sin8—-2cosO

3sinf + 2cos0 | :
3sin0 -2cos0’

If 3tan0 = 4, then find the value of

Fﬂ? &1 fF cot12°cot38°cot52° got60°cot78" = -J1= 2

W

Prove that cot12°cot38°cot52°cot60°cot78° =

1
e

(L/3)110 A XSP-5510  Page 43 of 48




24,

2S.

26.

1 £

28,

29.

S
(8]

R =t s (F:OSCCG—COKOF = :"

coS
+cos0

2 _1-cos0
Prove that (cnsecﬁ -caot0)* = " 1l+cos0’

Wqﬂﬂﬁqﬁﬁzzmta}memWWﬁ' 2

The circumference of a circle is 22 cm. Find the area of its onc

quadrant

Qﬁl«tﬂtﬁﬁ%ﬁamﬂmwm 11 ¥ F fFAR W F91¢ I
m%mm%m%:émﬁﬁmﬁﬂﬁt -

The volumc of a right circular cylinder of 14 cm long is equal to the
volume of a cube formed on the side 11 cm. Find the radius of the
cylinder,

Sﬁﬁmaﬁwa’m'ﬂﬁﬁ 1%&@6@?%3’!‘8%@1@
T W g 2 : 2

How many solid aphcrcs of radius 1 em can be made Irom a sohd
sphere of radius 8 cm ? https://www. bihartopper.com

a%ﬁﬁ@mmm%aﬂwﬁm@ﬁaaﬁéﬁmﬁm

=1 gt 2 2

Two coins are tossed sunultancously Then what is the probability of
getting at most one head ?

k%ﬁaﬂm%hqﬁmwx - 4k + & = o%wmﬁ 2

2

For what values of k, quadratic equatxon x2 - 49

kx+k=0 has equal
roots ?

(L/3)110 A XSP-5510
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- 30. mﬁammmﬁ:

25-35 35-45 45-55 95-65 65-75

6 10 8 12 4

Fmd the mean of the following data :

Class-interval | 25-35 | 35.45 | 45-55 | 55-65 | 65-75

Frequency 6 10 8 12 4

e I W / Long Answer Type Questions

YT WA 31 /@ 3aﬁémﬂnmilﬂﬁﬂﬁ4nﬁ%wélm
W & fAT s o Fmifte ¥ |

4x5=20

Question Nos. 31 to 38 are Long Answ_ef' Type questions. Answer any

4 questions. Each question carries 5 marks. 4x5=20

\/"ﬂ/ ﬁ@ﬁ“ﬁ’fm?_{m x-+y=7®2x—3y¥9-$lmﬁmﬁﬁi
- ' 5
Draw the grafsh of pair of linear 'cqué.tions x+y=7 and 2x-3y=9

and solve them.

& st A U WE ¥ S F AR 15 ¥ 1 3 ¥ W oo W
WiEt ST I e ¥ 9 2y ¥ e I wi 5

The sum of the digits of a two digit number is 15. The number

obtained by interchanging its digits exceeds the given number by 9.
Find the number.
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. | .
B T w ol e g @) o s & aater o
S
Y N T @ arqure o Fafor @ weh &
. i , th
Prove that if g linc is drawn parallel to one side of a ot o
other two sides are divided in the same ratio. |
S
\_}/ Fﬂ?ﬁﬁ?[l-i-cotﬁ —cosecO)(1 + tan0 + sec0) = 2. _
Prove -th_at (1+cot® ~cosecO)(1 + tan6 + secd) = 2.
35. 6 cm B 1 9w @R 9w ¥ vz @ 10 em # T W R TF
MIdTw e ", 8
Draw a circle of radius 6 cm. From a point 10 cm away from its
centre construct a pair of tangents to the circle.
3. T WP 2430 S ¥ 7o 3wk MR = Brow 6 W 31 5 Rawema
Hﬁfﬁﬁ%mﬁaﬁrw%lﬁﬁﬁﬁwﬁfﬂﬁl 5
A cone is of height 24 cm and radius of its base is 6 cm. It is melted
to form a sphere. Find the radius of the sphere.
37. @@émmﬁmw'm-mﬁaﬁg‘é%%ﬁﬂwm%m
| ﬂm#vﬁ&ﬁéﬁwﬂm%aﬁaﬁﬁ%memwmm%l
ﬁéwﬁmfmﬂaﬂ% 15#’1{(%@%%&@&@%3&
Far§ T L | :
(L/3)110 A XSP-5510 Page 46 of 48



A ladder rests .
on .
toiches a vertical wal] such that upper part of ladder just
cs e to
P of the wall. The ladder makes an anglc of 60° with

the ground
The lower part of the ladder is at a distance 1:5 m from

the wall. Fj :
Find the length of the ladder and height of the wall.

38. Twatefad se 1 wgers wma wt -
-3 ,
0-20 | 20-40 | 40-60 | 60-80 | 80-100 | 100-120

SRERA | 10 | 35 | 52 61 38" 29

Find the mode of the following distribution :
Class- | 50 | 20-40 | 40-60 | 60-80 | 80-100 | 100-120
interval _ )

Frequency | 10 | 35 52 61 38 29

(L/3)110 A
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